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Example: Question:   If “n” is any positive integer, prove that only one of the numbers, “n-1”, “n+1” or “n+3” is divisible 
by 3. 
 
For speed, while solving something similar, only THINK the words in blue; WRITE only the words in other COLORS. 
 
 
When n=6  
   (n-1)   is  = 5 
   (n+1)  is  = 7 
   (n+3)  is  = 9 
The resulting numbers are 5, 7 & 9. 
Only one (9) of which is divisible by 3. 
 
When n=7  
   (n-1)   is  =   6 
   (n+1)  is  =   8 
   (n+3)  is  = 10 
The resulting numbers are 6, 8 & 10. 
Only one (6) of which is divisible by 3. 
 
When n=8  
   (n-1)   is  =   7 
   (n+1)  is  =   9 
   (n+3)  is  = 11 
The resulting numbers are 7, 9 & 11. 
Only one (9) of which is divisible by 3. 
 
When n=9 
   (n-1)   is  =   8 
   (n+1)  is  = 10 
   (n+3)  is  = 12 
The resulting numbers are 8, 10 & 12. 
Only one (12) of which is divisible by 3. 
 

As can be seen from the trend above, the results will be similar when “n” is any other positive integer. 
Therefore, when “n” is any positive integer, only one of the three numbers, “n-1”, “n+1” or “n+3” is divisible by 3. 

  


